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PART A

Answer anyfour quesiions. Each question carries one mark

1.

2.

3.

4.

5.

ls y - 9 (c an albitranr' constant) is

Wile characlerlslic roots ol y" + 3y'

Write ihe Laplace lrar,sfom ofle 2r.

Find ao ior the Fourier ser es ol l(x) = x3 deiined on I 1, 1l

what s the Eu e. iormuLa for calculaiing b" oi Fou er seies oi fqnction f(x)

a solution ol llre ODE xy'= y ior aLLx t 0 ?

+2y=O

PART _ B

Answer any seven qlestions Each quesllon carries two marks

6. Sol'e ,) - J.

7 C-ec!whFrher'heequalo.Lo,\'- y/rl' -,v 2y .osr'. v'ra!-0er..l

8. Splve y'+ Ylan x - sn2x. Y(0)= 1.

L Sove y'= Ay + By2.
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10. Find qeneralsoution 10 Y" + Y = 0.

11. Sove y"+ 4Y + 4Y = 2ei

12. Frnd the L.pLace lr:nllorm of unit slep ILrn.tion u(i a)=

3s 10

J0 il t<a
11 ii r>a

13. F nd the inverse Laplace lransJorm of

1 4. Find the Four er series oi the runclion

0

and f(\ + 2n)= i(/).

15. Flnd Fourer seriesiorlhe followinq

PAFT C

Answer any four queslons Each question carrlesthree marks

r(rl=

l!

16. Solve (2 + 3x'?y2)dx + 2x3ydy = O

17. Sove (x'+ y'?)dx zxydy=0.

l8 Solve y" y'-6Y = e3r+ 5.

19 SovFr / -^\ y-l6x'.

20. Solve rhe inilia value prcblem y" + 6y'+ 8y = 0, y(0) = 1 and v'(0) = 1 uslnS

Lap!ace lransioftn.

21. Find the Fourierseries ol

if 1<t<o

il 0<x<1
t,
l'""'

22. Fincl Laplace lranstorm of l(l) = cos 2l + sin 2l
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PART - D

Answer any two queslions. Each question caffies fiv€ marks.

23. Find lhe generalsoluiion to lhe inilialvalue problern.

\el{'v) + yevrdx + (vev ljdy. 0 yL0l - I

24. Solve:

a) Y" + 4Y' + 4Y = e-' cosx.

b) y"+sy'+6y=e-3x.

25. Wdle the tollowing lunction using unii siep iunctions and find ils Laplace

(D=

26. Find

2n
1r ir
2

0<r<1

t. t.1
2

1vI
2

if

if
=Ir(!)


